F68EIE A AhFERGEERE LB ASRERER

2022/07/24 15:36:57 Page:

22500193 2022357)5] 238 () ~248 (H) P ﬁ—ﬁﬁ
ERBEEFHOEELHREIE w00
w5 wES B 14 21 3t 4l 51 61z 748 8l
BEF1100m 7/23 |4 FRE) 12.30/+0. 7|8 ZmA (1) 12.31/+0. 7| @K #£(1) 12.31/40. T|=HA B ) 12.55/+0.7|#E 3E(1) 12.56/+0. 7|31l K () 12.61/+0.7\ 11O %E#E(1) 12.66/+0.7| &A@ @z () 12.81/+0.7
# he AEE= M= MREA & K E A -
5F2([100m 7/23 [luO EH(2) 11.16/+1.5 [ #)Il =24 (2) 11.43/+1.5|4EA EA(2) 11.53/+1.53kR0O K (2) 11.59/+1.5 | B8 #%8 (2) 11.65/+1.5|F1@ {£X(2) 11.73/+1. 5| 8B X% (2) 11.75/+1.5| AiT  THBE (2) 12.06/+1.5
F E RC: |48 | T @@ #h BOTRE fam e )
BEF¥3100m 7/23 |EB EKREQ) 11.15/+1.7|#E &3 Q) 11.21/+1.7|8# &Q) 11.35/+1.7|#E #HQ) 11.42/+1.7 |8 B FHKER 11.42/+1.7|B#E FIAQ) 11.43/+1. 7| Bl K/ Q) 11.46/+1.7|5E HEH Q) 11.52/+1.7
# M RC: | FELL BEEE IRE— B -8 5 IMEE—
200m 7/24 |#@ &3 (3) 23.12/-1.2/83% E@Q) 23.37/-1.2| k0 & (2) 23.41/-1.2| 1Lt Z&FQ) 23.45/-1.2 |48 FEQ 23.95/-1. 2|tk £EQ) 24.06/-1.2| B4 KEQ) 24.40/-1.2
sz ALl maET E3 BE =H ik ]
& |400m 7723 B AE®) 53,215 BAQ) 54.01[IIF ZABG) 51| A% RQ 56.04 3L HAQ 56.41UE BB 56.97|E% BEQ 57.32[IIF FEAG) 58.95
] Be KEE— 4 A W - B NE BAERE
800m 7/23 | 1Lk $RE(3) 2:03.40|FE BEAQ) 2:04.26| KEE S$2 Q) 2:06.45\1LO #EQ) 2:06.87|BEK F—FAQ) 2:07.69 |41 2475 (3) 2:07.88|mt f&A(3) 2:10.74| 3% @) 2:10. 86
Tk % HEFyY T @@ Kk HEEy E4 ERE=
5F11500m 7/23 |E@E E¥E) 4:34. 11 |BR BFHRO) 4:35.10{ &1L A1) 4:42.14|FR@ FEH ) 4:42.96 k% FE() 4:43.63|FR KA (1) 4:44 41| RE EF) 4:46.00|:E@ #ERE(1) 4:46.76
& B AR HEEyY EE EREL X EEEM &
B¥2[1500m 7/24 |BRN il (2) 4:16. 78| AR FNE(2) 4:16.84|BHF BE(2) 4:21.01|#%FHE ZEKXER(2) 4:23.97|BFAK B£(2) 4:24. 31 |tkik 1518 (2) 4:25.07|#81lL B2 () 4:25.27|8R18 K3 (2) 4:30.18
& K X =E— it i it AEAOH &
5F3/1500m 7/24 |hE  #%(3) 4:12. 473" F#  BEKER(3) 4:15. 13| 2% 2LAQ) 4:15. 79| 18EQ) 417. 73|I EKQ) 4:19.45| 48 FiD (3) 4:20.78| 5@ HEEQ) 4:23.62|HfE BFEQ) 4:23.92
& &% T BE T 5@ KigE= W - R EEEM =f 4
%?‘A 3000m 7/23 |FEH EZ(2) 8:57.38| 28 1LAQ) 9:04.93|BHF HBHE() 9:07. 40| Fr3r 1 (3) 9:13.28| 5@ F1#E(3) 9:13.51|48 il (3) 9:16.69|KE E(2) 9:18.78|%JIl B (3) 9:20. 69
& AiE T BE EE— 2k 7 HEEM T - @ %
%i‘ﬁ 100mH 7/23 |IME 2R (2) 14.02/+0.9|kH &R (Q2) 14.13/+0.9(3RA K () 14.71/+0. 9|8 KF(Q2) 14.82/+0.9|%H# REQ 14.83/+0. 9| 2@ KIE(2) 15.12/+0.9| EA K& Q) 15.72/+0.9|&T @K (2) 15.90/+0.9
# | (0. 840m) we EErE T - @@ X 3t B KEE— -0
%?‘» 110mH 7/23 | T Q) 14.71/-0. 3| £ BEE (3) 15.43/-0.3|1B# & @3) 15.45/-0. 3|#H XK (3) 16.09/-0. 3| KUE #BE%E (3) 16.35/-0. 3[3REL sKkiE (3) 17.33/-0. 3| FHlF EHE(3) 17.58/-0. 3| % ¥ (3) 18.19/-0.3
B | (0. 914m) JMRE— RG: [tk HsFY ) [y -0E T - i B
4x100m!)L— | 7/24 |28 48.14|1LEE 48.25| =H 49.07 | 4L EB 49 11| K 4921 | BEE 49. 3| NEE= 49. 77| Kizde 49.88
ST NG BRQ) B KE Q) BE AEQ) 2@ BAHQ) BEA HEQ) S 10) 2K HHQ) i ®OQ
# 10! mit B NE KB o ) FE -0 wE RE() u B () EH £
WA (1) el 100 KB Bz ) Nt mAWD NIgE Dk (1) WA KB (1) LA B Tt (1)
HN Q) B Q) B A Q) B3 REQ FE AHNQ mE MEQ B RO —# EBQ
4x100m!)L— |7/24 |\RE— 44. 35| BAEE 44, 78| HK 45.20|1LUEE 45.49 |88~ 46. 32 | R EEIS 46. 64| B2k 46. 16| A\THEZ 47.95
Bk FFQ TG BEQO) E+E EQ) TR AASQ | #HEQ Wl B 3) £5 BA® Be EEQ)
HE R HME £AQ BE BEE () BA B Q) A HQ) # EZNQ) MR E#G) o )
THRE #O) Xig HEH Q) AR B o EEE) ML BAG) B BAQ HE EEO) Pil AEZA @)
E IR LT 16) B# RO % EEQ) B ZREO) KB —B0) A BEQ) AL Q) e
EEB 7/23 |HNl BAHEQ) 1m60 | #2FH  F0#E (3) 1mb5|ithE EIE (3) 1mb5 | BNl Z(2) 1mb5 | EH EZ(2) 1mb0 |#&@ KF Q) 1mb0| R L4 (2) 1md5|FE FR(2) KiEdt 1m40
EEE= g EREM # g = .85 Ei HH B/00Q) HKE
HH BLHQ) E&
s EE HE0Q) EEE
& |EEk 73| 5H =@ ang0|@E Q) am30
[h -0
R 724 B FIA®D Gm55/+2.3|fFil BE Q) 6n37/+0 9| EE@ [HE () 5no7/+1 4|72@ &9 () 5n85/+0.5| @A @2 5nBd/+3 5| BiE BE Q) 5n79/+3.1| A AR G) 5n66/+1 6|10 EZ= Q) 5n57/-2.0
-0z Hik T a% JME= Wi s L—F g
=Bk 7/23 |iE EEEE(2) 12m39/+0. 6| &M@ i (3) 12m25/+1. 3| @A % (2) 12m07/+2. 9 [3RA i3k (3) 11m90/+1. 3| &+ %A (3) 11m20/+0. 4 [#3E E{E Q) 10m97/+0.9| FH £ &5 (3) 10m57/+1. 8
WiEE ABE= £ AR g el ) g
ik 7/24 |13 Tt (3) 12m18| LT =Hk(2) 11m58 | Al EE (2 10m96 | it A (3) 10md1 |3BAR 47 (3) 10m23| B & #%AK Q) Im77|#E 47 (2) Im39|JIILE A (3) 8m77
(5. 000ke) WigE +FH IR 5B -0z BEERE 15 RS
ATERER/R 7/23 |#EL EEFE(3) 1688 | IAK  #BRE(2) 1672|#H 18X (2 1385|#&IL IE(2) 1328/ ith (2) 1313|&%F &R 2 1271 |16 #E Q) 896 | il  KF0(3) 457
1724 | rgm & NE 371 T3 A& wRZm
110mH-FR A3 5 B -400m 19. 32/+0. 8-10m32-1m45-59. 63 17.73/+0. 8-Tm98-1m30-57. 38 19. 90/+0. 8-6m20-1m50-1:01.02  |20. 84/+0. 8-8m54-1m45-1:03.83  [20. 01/+0. 8-8m48-1m30-1:02. 90  |19. 33/+0. 8-7m66-1m35-1:05. 77  |22. 00/+0. 8-Tm08-1m20-1:07.73  |23.76/+0. 8-Tm63——
ZF1100m 723 %5 BARE()  13.03/+0.2) L BF() 13.23/40.2|BA m=() 13.36/+0.2| 884 Hm (1) 13.50/40.2| %A SR 13.54/40.2 | 1Ak BE () 13.66/40.2| BB ZY (1) 13.75/+0.2|kE W=D 14.02/40.2
& AAE ik HaEY FHIK AREm JMEE= 2B% Can
ZF2/100m 1/23 |48 %%K(2) 12.35/+1. 4 |{EfE  #5F (2) 12.42/+1. 4|t KF1(2) 12.84/+1. 4| HE X5 2 (2) 12.88/+1.4|8RE =1 (2) 13.03/+1. 4| KR &Z(2) 13.14/+1. 4| 1LA £ (2) 13.15/+1. 4|3l EE(2) 13.26/+1.4
& HErE RO: | By RC: | EH tmn - mR AiE BE
%73 100m 73 | EEZ 0GE®)  12.22/41.4 08 &FO) 12.91/+1. 4| hE EE(Q) 12.92/+1 4| A% %A @) 13.00/+1.4| BB BPHEG  13.01/+1.4| L Z£AQ 13.13/+1. 4| KiA BHRG)  13.20/+1. 4o EBQ) 13.23/+1.4
# Hik RC: |1l =f i ik KK ARE= Wi
?%% 200m 7/24 [#EE= UEEQ) 25.68/-1.5|1k#k #HE Q) 25.89/-1.5|48 R*K(2) 26.07/-1.5|ch¥ #wEQ) 27.02/-1.5|®B8 F4 22 27.35/-1.5|4AR 1HF(2) 21.51/-1.5| % =FQ) 28.12/-1.5| 2K IH%F Q) 28.27/-1.5
& Hiok 7 RC: |y B Riir & =M B ot =TI )
ZF1800m 7/23 |HB& OWLWA() 2:22.19 %08 EH;A) 2:23.67\um (1) 2:24.89| KT &HEM 2:25.05| %% EBx() 2:26.05| L FF (1) 2:28. 76| LA EF(1) 2:33.27| Tk &) 2:31.07
# e EM ne ABE— BEA FT HE ik
ZF2/800m 7/24 |#L 1&FE (2) 2:18.66[ L0 WI (2) 2:23.35/4k%H L4352 2:26.55|3L1L  IDEE(2) 2:28. 33|l #E(2) 2:28.81| =il EE(2) 2:29.11|%1 282 2:30.38| HE %ZE () 2:33.44
# EESM ik & ILigE it #aE AEHE= EEES
ZF3/800m 7/24 |#E) HE Q) 2:17.46| )10 785 (3) 2:24.28| 11 EERTEQ) 2:25.16|%88 F05Q) 2:25.19|5%8 %E@Q) 2:21.25|FE #FQ) 2:28.29| 5# BF@Q) 2:30.27 |l #£2& (3) 2:43.53
# £ WiT BitE 155 ik ERE= HyE B
?%3’? 1500m 7/23 |@E)II HEQ) 4:33.67| % —3%() 4:35.72|#L 1&FE (2) 4:38.74|1lLO0 B3 (2) 4:49. 45| 1E%F  E() 4:50.63| LR =4FQ) 4:50.90|#AE HEQ) 4:52.79|%H TEE(Q) 4:53.82
& EiM RC: | /N RC: | EEEM HK NG wEAE NG i
?iﬁ 80mH 7/23 |4E%H HRF Q) 12.37/+1.7|FE *# (2) 12.40/+1.7| 5@ AFQ) 12.84/+1.7|lUF Q) 12.93/+1. 71148 R85 Q2 13.02/+1.7(F8E B4 (2) 13.18/+1. 7|15 " K ZE#R(2) 13.24/+1.1
* [(0.762m) we TEEE a2 I\RE— fildd R JI\REM

FUBI (RC: £ EARAE ST ERTRMR)



F68EE B AN ERBER LBRASREARKE

2022/07/24 15:36:57 Pagte: 2

22500193 202278238 () ~248 (B) REBE—ER
RAERBESEHABERELHREE i
T LS Es 14 244 3 4t 51 611 71 81
it?-ét 100mH 7/23 |5 BRIEQ) 15.73/-2.1|&#E E4£ Q) 16.14/-2.1|#1 B Q) 16.38/-2.1|#AK Zx() 16.43/-2.1|lLdt  AHF Q) 16.62/-2.1|FK & (3) 17.22/-2.1|%x% FIEQ) 17.43/-2.1|BF HEQ) 17.56/-2.1
& | (0. 760m) A g M g Aig AEE— f - BR Rty E
4x100mYL— |7/24 | K 52.62 |4 - AR 53.60| THEE 54.46| BEE 55.47|—m=E 55.66| Z R K 56. 47| %1 56.71| R4 57.01
B R BIF1(2) EE AR EH BEQ TR HEQ =% Y (WH0) A HF Q) i) SFE Q)
¥ s ¥ () BE B () #wh BERE() BA KB e FEM BB FHY (1) RE EE(1) B5 E(0)
B LEh() il @Z=(1) At B (1) B oER®) BE EDEQ) B E (1) BzR BEWO) gwa BEW)
KRR AR Q) XE EEQ ®wE Q) g EHQ) # BRQ xH EQ 2@ X¥RFQ E s e v)
4x100m!)L— | 7/24 | 1L 50. 10| K@~ & 50. 45| /\RREZ 51. 74 fEnfis 52.16 (& - AR 52. 69| e 53. 20| BEAR Kt 53.33 |87~ 53.48
BE - £ Q) P BhH Q) A B Wk EkQ BIE DEQ EE £0) e £RQ A% Q)
AK HAO EE BEQ PNCEN-E 36) RE ZD Q) A BQ B3 EBHQ) SE SHFQ A 322 (3)
HE HEQ) £8 F%Q HE HEQ HE HEQ) WE 503Q) Bl ®%EQ) IS 230)) Wi FAAEG)
TEE KF Q) Fl_ F1REQ) FE %0 Ht #HEQ A BHE) EE HPE() hi EEQ) 4B B8 Q)
B T2 |ER 74750 EEERE £310) mO[3RE FFO 5| WA =5Y O HEEEEI) 35 E BEQ) 35T wEQ 25| FIB Ki2(2) &R 1m25
L=FL - g fE EZ:T E# AR ARE= BE Z400) #rE
s BB T/ | Ex EREQ) 50| IIE & () ma0| KA EfE @) m30
& -0x E# E#
ENEHE 7/23 | EE(Q2) 5m20/+0. 2 |fEFY  BE(2) 5m14/+0.2| 2% EHQ) 5m02/+0. 9| &  H(2) 4m98/+1.758 FE() 4m97/-0.3| 5@ 2% () 4m93/-0.8|EAX Hirg (2) 4m92/+0.3|#&FHF &L= () 4m64/-0. 1
RE fr30] =TI &8 [gE B3R #wAE HiK
=Rk TB|4E BEFQ 10m57/+1.1| /B BHE) m02/+1.7|@F =& Q) 8n69/+1.6| B AHAE (2) 8m50/+0.9
B KM NKR| 5 - #8350 - B INE
AR T/ LA HHEQ) 10m86[ILA E#5(3) 10m38| A #27 (3) 10n10| KiE  HAa (3) 10m04 |81 Z=H Q) 9mo3 /ML BEF () 9m25| 1Ly HERE (3) o3| HH  &® (3) 886
(2. 721kg) xiE AEE= FHEIK g BEE= E# xiE frE
AERERA 73T B IGEITE S ==30)) 1724 8E Z250) 1616| EFf BT Q) 1610[3E #GH0) 1404 [EE HRO) 44 BR &R0 13Xz ®=0 1169
1724 | x pN-214 K a8 i3 =30 PN== 17 El0E
100mH-7E 3 Bk A, $5-200m 16.10/+1. 8-1m20-6m60-29. 80/-1.9 [17.94/+1.1-1m25-Tm02-29. 27/-1.9 |17.11/+1. 1-1m20-6m82-31. 28/-1.9 | 17.55/+1. 8-1m20-Tm34-31.15/-1.9 |18.15/+1. 8-1m15-Tm33-31. 24/-1.9 |18.60/+1. 8-1m15-6m73-30. 29/-0. 5 |20. 88/+1. 1-1m20-5m52-31. 11/-0.5 |21.30/+1. 8-1m10-7m83-31.92/-0.5

FUBI (NKR: R =247 52 8% )



